
1.)
0.8990 1.0980 0.9430 0.9570 0.9890 1.2000 0.9190

Answer: 0.8990 0.9190 0.9430 0.9570 0.9890 1.0980 1.2000

2.)

Answer:

3.)

Answer: The PRD must be between 98% and 103%

4.)

Answer: Median

In order to calculate a COD, you need divide the Average Absolute Deviation 
by the ________________.

Please find the Median in the following set of Sales Ratios:

A township within any class musst havce a median assessment ratio 
between what two percentages according to IAAO standards?

The Price Related Differential (PRD) must be between what two percentages 
according to IAAO standards?

Rank the above ratios in order and select the middle ratio

The median assessment ratio must be between 90% and 110%
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